

USED INVENTORY		VEHICLE ID	MILES IN	MILES OUT	DATE/TIME IN	DATE OUT	INVOICE NO.	
		<b>1FDWF7DC1GDA01971</b>	137091	137401	01/17/23 10:32	08/07/24	<b>40022</b>	
VEHICLE DESCRIPTION					TAG NO.	STATUS		
2016 FORD F750 SUPER						<b>COMPLETE</b>		
CONTROL NO.	LICENSE PLATE NO.	CUST. LABOR RATE	PROD. DATE	IN-SERV DATE	DELIV. DATE	DELIV. MILES	TERMS	
USEINV0102		\$149.					No Charge	
PHONE 1	PHONE 2	PHONE 3	STOCK NO.	SERV. ADV.		RO COMMENT		
(480) 833-2200			7901P	JOHN FOSTER (105)				
Line	Op-Code	Fail Code	Tech	Hours	Type	Amount	Cost	
<b>B</b>	Continued							
				<b>Total Hours: 82.88</b>		<b>Line Total... \$10,650.42</b>	<b>\$2,696.60</b>	
<b>C</b>	Q.C.		A47	35.00	Internal	<b>\$2,975.00</b>		
Concern Q.C. INSPECTION/REPAIRS								
				<b>Total Hours: 35.00</b>		<b>Line Total... \$2,975.00</b>	<b>\$0.00</b>	
Non-Customer Totals								
Charge Description						Acct #	Amount	Cost
I - Parts						4655	\$26,415.97	\$20,312.68
I - Sublets						4560	\$1,889.79	\$1,889.79
I - Labor						4555	\$17,064.60	\$6,564.32
Shop Charge						320C	\$25.00	
Misc.Chg						340D	\$100.00	
I - Parts-Other						4700	\$126.28	\$97.12
<b>TOTAL INTERNAL</b>						<b>INT</b>	<b>\$45,621.64</b>	
Customer Totals								
Charge Description						Acct #	Amount	Cost
Total Amount Due							\$0.00	

USED INVENTORY		VEHICLE ID	MILES IN	MILES OUT	DATE/TIME IN	DATE OUT	INVOICE NO.
		1FDWF7DC1GDA01971	137091	137401	01/17/23 10:32	08/07/24	40022
		VEHICLE DESCRIPTION				TAG NO.	STATUS
		2016 FORD F750 SUPER					COMPLETE
CONTROL NO.	LICENSE PLATE NO.	CUST. LABOR RATE	PROD. DATE	IN-SERV DATE	DELIV. DATE	DELIV. MILES	TERMS
USEINV0102		\$149.					No Charge
PHONE 1	PHONE 2	PHONE 3	STOCK NO.	SERV. ADV.		RO COMMENT	
(480) 833-2200			7901P	JOHN FOSTER (105)			

Line	Op-Code	Fail Code	Tech	Hours	Type	Amount	Cost	
<b>A</b>	Continued							
<b>Part Number</b>		<b>Description</b>			<b>Qty.</b>	<b>Unit Price</b>	<b>Ext. Price</b>	<b>Cost</b>
FC4Z15604B		MODULE,DOORLOCK			1	\$376.87	\$376.87	\$289.90
FC4Z14407C		WIRE ASSEMBLY			1	\$224.64	\$224.64	\$172.80
HC3Z5H297A		MODULE,DEF SENDER			1	\$230.88	\$230.88	\$177.60
<b>Parts Total...</b>						<b>\$23,036.63</b>	<b>\$17,713.20</b>	
<b>Sublet Code</b>		<b>Vendor Name</b>			<b>PO# / Description</b>		<b>Cost</b>	
		#007989 CESAR'S TIRE			TIRES		\$166.75	\$166.75
		#46 MR AUTOGLASS			REPL W/S		\$180.00	\$180.00
		#007989 CESAR'S TIRE			TIRES		\$50.00	\$50.00
		#28 COLBY WELDING & RAD			RAD REP.		\$171.25	\$171.25
		#007993 COVER-ALL UPHOL			REBUILD SET		\$435.00	\$435.00
		#463 TRUCK PRO LLC					\$886.79	\$886.79
<b>Sublet Total...</b>						<b>\$1,889.79</b>	<b>\$1,889.79</b>	
<b>Total Hours:</b>				<b>82.88</b>	<b>Line Total...</b>	<b>\$31,971.22</b>	<b>\$19,602.99</b>	

<b>B</b>	A51	82.88	Internal			<b>\$7,044.80</b>		
Concern ADD ON FOR LINE "A" LABOR ONLY								
<b>Part Number</b>		<b>Description</b>			<b>Qty.</b>	<b>Unit Price</b>	<b>Ext. Price</b>	<b>Cost</b>
AC3Z5J213C		SENSOR			1	\$113.10	\$113.10	\$87.00
FC4Z5K202A		NOX MODDULE			1	\$329.16	\$329.16	\$253.20
FC4Z9D378C		SENSOR			1	\$301.08	\$301.08	\$231.60
DC3Z5K202C		NOX MODULE			1	\$390.00	\$390.00	\$300.00
JC4Z5L239A		SENSOR			1	\$252.72	\$252.72	\$194.40
FC4Z9J460B		SENSOR			1	\$307.32	\$307.32	\$236.40
FC4Z5E241A		GASKET			1	\$38.38	\$38.38	\$29.52
FC4Z5E241B		GASKET			1	\$25.58	\$25.58	\$19.68
W705443S900		NUT			20	\$2.94	\$58.80	\$45.20
2585AB		DPF/CATALYTIC CONVERTER			1	\$1,689.48	\$1,689.48	\$1,299.60
<b>Parts Total...</b>						<b>\$3,505.62</b>	<b>\$2,696.60</b>	
<b>Misc. Code</b>		<b>Description</b>			<b>Qty.</b>	<b>Unit Price</b>	<b>Ext. Price</b>	<b>Cost</b>
		Freight			1.0	\$100.00	\$100.00	\$0.00
<b>Misc Total...</b>						<b>\$100.00</b>	<b>\$0.00</b>	

USED INVENTORY		VEHICLE ID		MILES IN	MILES OUT	DATE/TIME IN	DATE OUT	INVOICE NO.	
		1FDWF7DC1GDA01971		137091	137401	01/17/23 10:32	08/07/24	40022	
		VEHICLE DESCRIPTION					TAG NO.	STATUS	
		2016 FORD F750 SUPER						COMPLETE	
CONTROL NO.	LICENSE PLATE NO.	CUST. LABOR RATE	PROD. DATE	IN-SERV DATE	DELIV. DATE	DELIV. MILES	TERMS		
USEINV0102		\$149.					No Charge		
PHONE 1	PHONE 2	PHONE 3	STOCK NO.	SERV. ADV.			RO COMMENT		
(480) 833-2200			7901P	JOHN FOSTER (105)					

Line	Op-Code	Fail Code	Tech	Hours	Type	Amount	Cost
A	Continued						
	Part Number	Description	Qty.	Unit Price	Ext. Price	Cost	
	FC4Z1S175B	SEAL;HUB	2	\$99.96	\$199.92	\$153.78	
	BC3Z6840A	GASKET	1	\$7.87	\$7.87	\$6.05	
	DC3Z6L621B	GASKET	1	\$7.11	\$7.11	\$5.47	
	DC3Z6L621C	GASKET	1	\$8.20	\$8.20	\$6.31	
	DC3Z6L621A	GASKET	1	\$3.50	\$3.50	\$2.69	
	DC3Z6710B	GASKET	1	\$3.60	\$3.60	\$2.77	
	DC3Z6710A	GASKET	1	\$3.07	\$3.07	\$2.36	
	FC4Z9D378A	SENSOR	1	\$274.56	\$274.56	\$211.20	
	BC3Z14A003AA	COVER	1	\$20.12	\$20.12	\$15.48	
	BC3Z9J460C	SENSOR	1	\$124.64	\$124.64	\$95.88	
	GC4Z6A785A	SENSOR;SE	1	\$219.96	\$219.96	\$169.20	
	BC3Z9D475K	VALVE EGR	1	\$503.07	\$503.07	\$386.98	
	BC3Z9D476B	GASKET	1	\$45.24	\$45.24	\$34.80	
	45822	LAMP	2	\$1.65	\$3.30	\$2.54	
	66851	PIGTAIL	2	\$8.24	\$16.48	\$12.68	
	92120	GROMMET	2	\$0.69	\$1.38	\$1.06	
	52772	STOP/TURN/TAIL LIGHT	1	\$8.75	\$8.75	\$6.73	
	FC4Z3F791AB	HOUSING;S	1	\$319.80	\$319.80	\$246.00	
	FC4Z15442B	LAMP;SIDE	1	\$59.38	\$59.38	\$45.68	
	8C2Z13411A	SOCKET	1	\$17.67	\$17.67	\$13.59	
	6U2Z14S411AB	PIGTAIL	1	\$55.20	\$55.20	\$42.46	
	384684934090	glass,mirror rt side	1	\$91.34	\$91.34	\$62.99	
	3012011	6.7L POWERSTROKE	1	\$12,993.50	\$12,993.50	\$9,995.00	
	PC291C	SYNTHETIC OIL 15W40	20	\$5.54	\$110.80	\$85.20	
	134A	FREON	2	\$21.67	\$43.34	\$33.34	
	ATF	ATF	4	\$3.87	\$15.48	\$11.92	
	11R22.5CAPHY	TIRE,11R22.5CAP HIWAY	4	\$300.30	\$1,201.20	\$924.00	
	11R22.5ST	TIRE 11R22.5STEER	2	\$288.60	\$577.20	\$444.00	
	FC4Z15604B	BCM MODULE	1	\$264.26	\$264.26	\$203.28	
	9008	BULB; HEA	1	\$18.19	\$18.19	\$13.99	
	578	BULB	1	\$3.42	\$3.42	\$2.63	
	FL3Z13K359AC	SWITCH TURN SIGNAL	1	\$102.04	\$102.04	\$78.49	

USED INVENTORY		VEHICLE ID		MILES IN	MILES OUT	DATE/TIME IN	DATE OUT	INVOICE NO.	
		1FDWF7DC1GDA01971		137091	137401	01/17/23 10:32	08/07/24	40022	
		VEHICLE DESCRIPTION					TAG NO.	STATUS	
		2016 FORD F750 SUPER						COMPLETE	
CONTROL NO.	LICENSE PLATE NO.	CUST. LABOR RATE	PROD. DATE	IN-SERV DATE	DELIV. DATE	DELIV. MILES	TERMS		
USEINV0102		\$149.					No Charge		
PHONE 1	PHONE 2	PHONE 3	STOCK NO.	SERV. ADV.			RO COMMENT		
(480) 833-2200			7901P	JOHN FOSTER (105)					

Line	Op-Code	Fail Code	Tech	Hours	Type	Amount	Cost
------	---------	-----------	------	-------	------	--------	------

A Continued

Part Number	Description	Qty.	Unit Price	Ext. Price	Cost
BC3Z9A564B	TUBE	1	\$167.84	\$167.84	\$129.11
BC3Z9B246A	KIT	1	\$12.69	\$12.69	\$9.76
FC3Z9A274A	TUBE ASSE	1	\$63.96	\$63.96	\$49.20
BC3Z9A317C	CLIP	1	\$11.70	\$11.70	\$9.00
FC4Z7A095A	COOLER;OI	1	\$160.68	\$160.68	\$123.60
FC4Z9S278E	TUBE ASSE	1	\$179.40	\$179.40	\$138.00
FC4Z9J338A	TUBE ASS'	1	\$156.00	\$156.00	\$120.00
FC4Z9J279A	TUBE;ASSY	1	\$265.20	\$265.20	\$204.00
FC4Z9G282A	PUMP;ASSY	1	\$630.24	\$630.24	\$484.80
3386	FUEL FILTER	1	\$14.44	\$14.44	\$11.11
PA4433	FILTER;AI	1	\$64.21	\$64.21	\$49.39
GC3Z9278B	SWITCH	1	\$23.24	\$23.24	\$17.88
BC3Z8287A	CLAMP	1	\$25.74	\$25.74	\$19.80
FC4Z5K202A	MODULE;NO	1	\$347.88	\$347.88	\$267.60
DC3Z5K202C	MODULE;NO	1	\$296.40	\$296.40	\$228.00
3F1Z12A648A	SENDER	1	\$27.31	\$27.31	\$21.01
FL2051S	KIT	1	\$22.87	\$22.87	\$17.59
BC3Z8287A	CLAMP	1	\$25.74	\$25.74	\$19.80
FC3Z9Y438A	HOSE	1	\$149.92	\$149.92	\$115.32
BC3Z9A317F	CLIP	1	\$11.70	\$11.70	\$9.00
7151	FILTER;OI	1	\$30.36	\$30.36	\$23.35
300458	FILTER	1	\$105.46	\$105.46	\$81.12
W715618S437	NUT	6	\$0.39	\$2.34	\$1.80
3386	FUEL FILTER	1	\$17.33	\$17.33	\$13.33
FC4Z8286C	HOSE	1	\$182.52	\$182.52	\$140.40
FC4Z1126D	DRUM	2	\$464.88	\$929.76	\$715.20
FC4Z2200A	SHOE;BRAK	2	\$219.96	\$439.92	\$338.40
FC4Z8620D	BELT	1	\$70.82	\$70.82	\$54.48
7236	BATTERY	2	\$181.19	\$362.38	\$278.76
25040319	BELT	1	\$25.10	\$25.10	\$19.31
25040317SF	BELT	1	\$26.30	\$26.30	\$20.23
FC4Z1001B	GASKET	2	\$15.60	\$31.20	\$24.00

ARIZONA COMMERCIAL TRUCK SALES LLC.  
 2560 EAST MAIN STREET  
 MESA, AZ 85213  
 (480) 833-2200 FAX(480) 833-6225  
 WWW.AZCOMMERCIALTRUCKS.NET

40022 USE

USED INVENTORY		VEHICLE ID		MILES IN	MILES OUT	DATE/TIME IN	DATE OUT	INVOICE NO.	
		1FDWF7DC1GDA01971		137091	137401	01/17/23 10:32	08/07/24	40022	
		VEHICLE DESCRIPTION					TAG NO.	STATUS	
		2016 FORD F750 SUPER						COMPLETE	
CONTROL NO.	LICENSE PLATE NO.	CUST. LABOR RATE	PROD. DATE	IN-SERV DATE	DELIV. DATE	DELIV. MILES	TERMS		
USEINV0102		\$149.					No Charge		
PHONE 1	PHONE 2	PHONE 3	STOCK NO.	SERV. ADV.			RO COMMENT		
(480) 833-2200			7901P	JOHN FOSTER (105)					

Line	Op-Code	Fail Code	Tech	Hours	Type	Amount	Cost
A	PDI		A47	0.00	Internal	\$7,044.80	
			A51	82.88			
Concern	<p>PDI/REPAIRS---PUSH TRUCK INTO SHOP,TRUCK MISSING ALOT OF PARTS, J.V. WANTS TO GET ENGINE RUNNING.INSTALLED MISSING BATTERIES,CRANK ENGINE AND FOUND MISSING &amp; CUT FUEL LINES,REPLACED ALL FUEL LINES,REPLACED BROKEN FUEL PUMP MOTOR,REPLACED MISSING TRANS COOLER,REMOVED DRIVE LINE TO GET TO PUMP MOTOR,REPLACED PIG TAIL FOR MOTOR,HAD TO REMOVED FUEL COOLER TO GET DAMAGED LINE OFF TO REPLACE,INSTALLED NEW FUEL,OIL,NO OIL IN ENGINE,FILLED ENGINE WITH OIL AND TRIED TO START ENGINE, ENGINE STARTS BUT MAKES ALOT OF NOISE, WILL REPLACE ENGINE PER J.V..REMOVE TRANS,AND OTHER COMPONETS TO REMOVED ENGINE,GOT USED ENGINE J.V. ORDERED,SWAPPED OVER PARTS AND HARNESS,INSTALLED ENGINE ,TRANS AND OTHER PARTS REMOVED FOR JOB. STARTED TO SERVICE ENGINE AND FOUND THE DIP STICK STUCK IN ENGINE,SOMEONE HAD HAD THE OIL PAN OFF AND REINSTALLED IT PINCHING THE DIP STICK,HAD TO REMOVED TRANSMISSION &amp; ENGINE OIL PANS TO REMOVE STICK.SWAPPED OVER MORE PARTS TO MAKE FIT TO TRUCK,REPLACED FILTER AND FILLED ENGINE,INSTALLED FRONT OF TRUCK AND FILLED COOLANT AFTER RADIATO RETURNED FOR REPAIR &amp; CLEANING,REPLACED DRIVE BELTS, STARTED ENGINE AND CHECKED FOR LEAKS,HAS BIG EXHAUST LEAK,REMOVED DOWN PIPE RESEALED AND RECHECKED.RAN ENGINE HAS 30 CODES,CLEARED CODE AND RERAN ENGINE,INSTALLED MISSING NOX SENSORS,REWIRE MODULES/HARNESS,REPAIRED HARNESS FOR PRESSURE SENSOR,REPAIRED WIRING FOR COOLANT SENSOR,</p>						
Cause	<p>REPLACED EGR VALVE WITH NEW,REPAIRED WIRING FOR ENGINE FAN CONTROL,RAN REGEN,REPLACED REAR BRAKESHOES,WHEEL SEALS AND MISSING LUG NUTS,REPAIRED HEAD LIGHT WIRING,DOME LIGHT,BACKUP LIGHTS INOP,NO POWER THRU BCM, BCM ON BACK ,REPAIRED WIRING FOR RIGHT TAIL LIGHT,INSTALLED MISSING FENDER LIGHTS,HORN NOT GETTING POWER THRU COMBO SWITCH,REPLACED SWITCH AND RECHECKED OK.</p>						